1. o8 33} Zo] AB = AC ¢l o]5 ¥4z ABC oA £ACD =
138° A of, LABC 9] 371=9

2 138°

@D 40° @) 49° 3) 44° @ 46° (B 48°



= ofd

ol A3t AABC

T

ArNaar,






17t ABC o4l CM = 5c¢m ©]al & M|

3 3cm @ 4cm B 5cm

@ 2cm

D lem



O A7 o] Al o] o] 52410l @ HollA
Zoltt. HIZte] 5o = Sold 4ol A& 1=

AIBE €} AIBD ©f|A]
/IEB = /IDB = 90°,
BE 384,
/IBE = /IBDO|E&
AIBE = AIBD (RHA 9H%)
IDES IR
@% Wi 0 2 AICE = AICF (RHA %) 0lR=2
~ [ ]=TF--.©
@, O°lA
- ID=1IF
AADI 9} AAFT A
(ADI = /AF1=90°, AT= 35 ¥, ID =1IF
o|BL2 AADI = AAFI(RHS T5)
-&7F /DAL = (FAIo|E & AL_ LA o] o] 5 Aot
ufepA] A Z+9] o] 5 A2 gk Hof|A] ghdth

f

o]-rIO

@D TA ® 1E A I1C @ 1B B AF



6.

thS T4 AABCOA A ZHe] o] %

@D 20° ® 25° 3 30° @ 35°

B 40°



7. the 2w o] sABC o WAISHs 91 9] WA Ee] o] x
Aufelr}?




o2 24 H 1+ aABC 2] WAo]1 DE ¢ BC 7} a4 o,
AD = 6cm , DB = 4em , AE = 3em , EC = 2cm ©]th. AADE 9]
=99 Zdol=?

@D 9cm @ 1lem ® 13cm @ 15cm ® 17cm



9. TS ¥ 2L AABC A x 9 A7|=

A

@D 80° ® 85° ® 90° @ 95° ® 100°



AABC |4 /B = o|m
(PBC =] (1}) xﬂ%z%X\(q)\zlﬁ%

wHe}A] APBC & ol

O ~ @holl ol Aoz £2] gre 79




11. = %7b412H9 ABC, DEF 7} o 13} 28 o, DF o] Zoj=?

@D 6cm @ T7em 3 8cm @ 9cm 3 10cm



12. ©& 1A AC BC, «C = 90°,
R 74 9

(ADE = 90° & of

® /DAE = /CAE ® DB =DE =EC
® AADE = AACE

@ BE =EC
3 /DEB = /BAC



13. Z2"olA aABC+= £C = 90°°]3L AC = A
BCQl A ZolgHdZtgoltt, BC = BE, .
ABLDE©°|1 CD = 8cm ¥ w], AAED 9
o] & Fstoi=t 1\)

?cm
B C

Qe e



14. o3 J"olA LAOB 9] o] 524 OC 912 4 P 25 ¥ OA, OB
of &l A HE A2 Q, Rt & o, s 5 &4 2 227
A
Q
p_C
0 R B
@® /POQ = /POR @ (OQP = LORP
® aAPOQ = APOR @ PQ=PR

® 0Q=0R=0P



15. 3 AABC 9] 942 0 2t

mol‘

Faf, 2x o] 2717

@ 10° @ 20° @ 30° @ 40° @ 500



16.

o2 18oflA 2 O+ AABC 9] @J4lelil, /OCB = 40° ¥ o, /BAC
o] A71& s

A

A

@ 50° @ 55° A 60° @ 65° B 70°



17. o5 2904 3 0 = aABC 9] &4o]al, H I+ a0BC 9] Wilo]
o} /BIC = 144° & o], /A ©] A7]E Foteit.

A




18. the 1A% go
oA /B2 olF

@D 30 ® 32 3 35 @ 37 ® 39



th& 1o A AABC = AB = AC ¢l o]5HAZ ot A D, E, F
= 7Z}ZF BC, AC, AB ¢J2] Ao]1, CD = BF, BD = CE, /A = 40°
A o], /FDE o] 27]& Fstoizt.

A
/




20.

oS a2k Zrol LA = 90° ¢ AABC
oAl BD & /B 9] o]5&Ao]i BC =
20cm, AD = 6cm € w, ADBC 2] Y]

=7

@ 50cm? @ 52cm?

@ 60cm?2 B 64 cm?

A\
6\cm
D
B& —C
T~-20cm--~
® 58cm?



E}"’ C&E’r. LDAF = 70° Eb_ °F
= Fajolat,




ZA}2FE ABCD 01]A1 ¥-2 Z+7F AABC, AACD

A__ D
15eny” O\
K F. /6cm
L )

@D 7em @ 8cm ® 9cm @ 10cm ® 1lem



23. oS 2PoJA AABC £ B =
/ADB = /BEC =90° ¥ tq] G o] Zo




24.

The Z23olA M 1= AABC 9] WAl X /ABC = 60°, ZBCA = 70°,
AH1BCeolt}. /IAH : /BICE 7P 7hehgt H4=2] ] x : y 2 YEFY
= M, x+y9] gh= FteiEt

A




25. /BAC = 70°, /ABC = 42°, AC = ADO|X AL I' &
AABC, AACD ] alolth. H O+ BISt DI' 9] 7419

o o, Z0T 9| 271E F-shofzt.
D

D 147.5° @ 148.5° @ 149.5°

@ 131.5° 5) 141.5°

R
o N



